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- Xz =

x1 = z(1 + xz)

- X1 + 4xz -xz = 1 xz = +(1 + x, + x3)

- Xz + 4xz -xy - 2x5 = 1
= x3 = +(2 + xz + xn + 2x5)

- x3 + 2xy - X5 = 1 3 Xy = ()) + Xy + x5)

- 2x3 - x4 + 3xz = 1 Xi = 5(1 + 2xz + Xy)

Xi = array (5)

Ji = array (5)

for i in range(5) : Xi = 0

for n in range (N) :

for i in range (5) :

Ji = Xu

x1 = z(1 + (2)

xz = +(1 + j 1 + (3)

x3 = +(2 + jz +( + 265)

Xy = ((1 + Jy + J5)

xi = 5(1 + 2(3 + (4)

print X
, X= X3 Xu X5

L-st Iteration Jacob ,
L-st Iteration Fauss-Seidel

x1 = z(1 + 0) = 42
x1 = z(1 + 0) = 42

xz = +(1 + t + 0) = 38
xz = 5) +0) = 1/

x3 =+( + 3 + 0 + 0)=
x3 =+( + 0 + 0 + 0) = 14 Xy = ()1 +2 + 0) = 43/64
Xy = ()) + 0 + 0) = 1/2 Xi = 5(1 +2 + 1 ( =

64

Xi = j(1 + 0 + 0) = 13 -


